





# 148<sup>th</sup> STANTHORPE SHOW

Friday 2<sup>nd</sup> February – Sunday 4<sup>th</sup> February 2024

# Section Q **HANDCRAFT**

# **SCHEDULE**

#### **Chief steward**

Kathy Heath

#### **Stewards**

Kerry Johnson | Dee Booth: <u>deebooth@bigpond.com</u> | Coralie Lawder | Fiona Magnussen Cathy Smith | Maree Gregg | Sarah Schnitzerling | Annelle Batterham | Sandy Newton

LOCATION	Stanthorpe Showgrounds Exhibition Centre
ENTRIES	Exhibitor to list all entries on the <i>Stanthorpe Show general entry</i> form. NOTE: Maximum of 2 entries per person per Class.
ENTRY FEES	\$1.00 per item
PRIZE MONEY	1 <sup>st</sup> \$10.00, 2 <sup>nd</sup> \$5.00 for all classes unless otherwise stated
	All Prizes issued as cash, books, craft packs or vouchers as determined by the Handcraft subcommittee.
DELIVERY OF ENTRIES	Entries to be received by Tues 30/1/24 from 8:00 am to 5:00 pm. Entries close at 5:00 pm.
JUDGING	Judging of Handcraft classes (other than Lego) will take place on Wed 31/1/24.
	Judging of Lego classes will take place on Tues 30/1/24 after 5:00 pm.
COLLECTION OF ENTRIES	Entries to be collected on Sun 4/2/24 between 10.00am and 12.00 noon.
PUBLICITY	Find us on Facebook at Stanthorpe Show Handcraft Section.

### **SUPPORTED BY**

The Stanthorpe Agricultural Society wishes to thank the following supporters who have contributed towards the HANDCRAFT competition.

Such continued involvement helps enormously – particularly giving us the ability to broaden the range of crafts in our schedule which in turn encourages more children and adults to enter.

Anne Lindsay | Bev Batterham | Dee Booth | Sandy Newton

The Cameron Family





















If you are interested in becoming a supporter of the HANDCRAFT competition, please contact:

Dee Booth: deebooth@bigpond.com

### CONDITIONS OF ENTRY

- 1. All care will be taken with exhibits, but responsibility for any insurance rests with the exhibitor.
- 2. Handcraft entries <u>must not be more than two years old</u>, and the item/s must be the exhibitor's own work. <u>Items entered in previous Handcraft section at a Stanthorpe Show are not accepted.</u> Lego entries must be original work for this Show. Past entries adapted are not accepted.
- 3. OPEN classes are for previous winners as well as any other entrant choosing to enter.
- 4. NOVICE classes are for those who have not won a prize in that class previously.
- 5. Please read Classes carefully for any instructions regarding presentation and size. Oversize items are not accepted.
- 6. The stewards reserve the right to move an exhibit to another category if, in the judge's opinion, the exhibit is incorrectly placed.
- 7. The stewards reserve the right to combine categories if insufficient entries are received in those categories.
- 8. Any item, deemed by Stewards, not to comply with the definition of Class entered will not be presented for judging.
- 9. Judges assess all exhibits. A strong emphasis will be placed on indications of effort in creativity and design in producing a quality entry in terms of colour, durability, and practicality. Entries need to be in line with the choice of materials and the implementation, as noted, in any requirements for a Class. These conditions are inclusive for Classes in Open, Novice and all Junior Classes. <u>Age/ability factors taken into account with Junior entries.</u> Cleanliness in presenting work is essential.
- 10. Prizes are awarded at the judge's discretion.
- 11. Uncollected exhibits will not be taken to the Show Office for collection. No security provided nor responsibility accepted for uncollected items.
- 12. Uncollected prize money will be held by the Handcraft subcommittee and if not claimed WITHIN THREE MONTHS will become a donation to the Handcraft sub-committee for their ongoing operation and future prize money. Prizes and prize money will not be mailed.

### **CLASSES**

# FEATURE CLASSES – WALL DISPLAYS

#### Q1 ADULT WALL DISPLAY - APRON

Show your individuality by creating a usable APRON to your own design in fabric. All Aprons will be pinned to our display wall. Your entry will be judged by public vote. Aprons are always such an attraction and many Show visitors in 2023 were more than impressed with the display.

New! We are asking our 2024 entrants if they will permit their apron to be sold during the Show with the proceeds contributing to the Handcraft Committee fundraising for future prize money. If you are agreeable, please note this on your entry form.

Sale of Aprons is completely optional.

Prize money:  $1^{st}$  \$30.00,  $2^{nd}$  \$20.00 donated by *Sandy* 

Newton.

#### Q2 CHILDREN'S WALL DISPLAY - SUNCATCHERS

For 2024 Show, we are looking for Suncatchers, utilising any suitable border and made by a child aged 5yrs to 12yrs. Pinterest may have many ideas for Suncatchers under our Class criteria.

Must be suitable to be pinned or hung as a wall display.

Size to maximum 30 x 30 cm. The maximum weight allowed is 500 grams.

Your entry will be judged by public vote. Prize money:

1<sup>st</sup> \$25.00, 2<sup>nd</sup> \$10.00, Highly commended 3 x \$5.00 ea. donated by *Kerry Johnson*.

# **OPEN CLASSES** (See clause #3 in Conditions of entry)

HELPFUL HINT: Sometimes our ideas and creativity just need a nudge! Pinterest or Google may help with many of these fascinating crafts. Be it decoupage, lap weaving, felt, button craft, gift boxes, wreaths or rope crafts, in fact, if you need inspiration for any of our classes, a few minutes online will give you will give you plenty of ideas! Now read on!

#### Q3 Bear

Handmade bear dressed in handmade clothes. Maximum standing height 30 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q4 Bear

Handmade bear using fur, cloth, or patchwork. May include moveable joints.

Maximum standing height 30 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q5 Beadwork

Handmade beaded item. All the beads used must be hand-made by entrant.

Create your own design, e.g. evening bag, wearable piece such as earrings, or item to show your beadwork skills.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q6 Buttoncraft

Any item using buttons decoration/design. Maximum size 20 x 15 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q7 Child's apron

To be made from fabrics suitable for up to age 10.

#### **O8** Cushion cover

For chair or sofa. Must include cushion insert. Maximum size 40 x 40 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q9 Clutch purse or small bag

Using fabric or leather. Cross body or shoulder strap optional. Size maximum 25 cm x 15 cm.

#### Q10 Decorated doorstop or draught stopper

Maximum size 25 cm x 20 cm.

#### Q11 Decoupage item

Decoupage is a fascinating form of handcraft. We suggest that for newcomers to this work, Google 'Decoupage' for tips, tuition/ideas or go to Pinterest.

Maximum height limit of 40 cm.

#### Q12 Doll

Can be hand knitted or sewn fabric. Maximum standing height 30 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q13 Festive article

For any recognised festive event e.g. Easter, Christmas, Chinese New Year.

Maximum size 30 cm x 30 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q14 Felt craft

Any item created using felt, be it decorative or just jolly useful!

Maximum size 20 cm x 15 cm.

#### Q15 Gift boxes

Box to be fully handmade using origami/paper/ stiff card and decorated.

Maximum size 20 cm x 15 cm.

Prizes:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains.* 

#### Q16 Hair accessories

e.g. decorated hair bands, scrunchies, combs.

#### Q17 Handmade flowers

This craft is enjoying renewed interest, Pinterest or Google could help.

Presentation is part of the judging e.g. present as a posy, or in a small vase etc.

Maximum height 30 cm, or an interesting bunch. Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

**Q18 Headwear** (must be genuine wearable items) Can include small hat, small cap, special occasion head garlands suitable for adult or child.

Brim size for any hat/cap may not exceed 10 cm. Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### Q19 Jewellery item

Must be mounted ready for display. Present with display stand. Use of commercial products accepted.

Maximum size 20 cm x 15 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*,

2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q20 Lap weaving

Any suitable medium, including wool, fabric, leather and pliable twigs.

Google *Lap Weaving* or go to Pinterest. You will find how easily it is done, the materials needed, and video tutorials. All at a size that can fit on your lap! Great creative creations! Prizes:

1<sup>st</sup> \$10.00 voucher, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains.* 

#### Q21 Macramé

Your creative piece will be demonstrating your use of a variety of stitches to produce a wearable piece of Macramé, such as decorative collar, necklace, earrings.

Maximum display size 40 cm x 30 cm.

#### Q22 Mosaic (1 item per person)

Any item maximum size 30 cm x 30 cm x 30 cm. To facilitate an appropriate display of your creative piece, please supply own display stand. Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q23 Papercraft (1 item per person)

Hand-made special occasion card. To facilitate an appropriate display of your creative piece, please supply own display stand.

#### Q24 Pebble art

Another craft that Pinterest or Google could help with.

Present design, unframed, on a firm canvas board available at most craft outlets.

Maximum size 20 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q25 Pin cushion

Prizes:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q26 Quilling

A truly fascinating craft. Try Google or Pinterest for fresh ideas, tips, tuition.

Present as a framed piece, or on your own stand or on a rigid board ensuring that your creative work can be suitably and firmly displayed.

Maximum size is 20 cm x 20 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q27 Recycled item

Using any recycled material excl. mosaic items. Attach to your entry a small card for display which details the material/s that have been recycled. Maximum size 30 cm x 30 cm X 30 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q28 Something for the kitchen/laundry.

e.g. any appliance cover, hot plate mats, pot mitt (excl. tea cosy see Q31)

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*, 2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q29 Something for the bedroom

e.g. nightwear cases, padded coat hangers, tissue box covers, decorated jewellery box.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*,

2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q30 Something for the nursery

e.g. change mat, decorative mobile, nappy bag, cloth book, soft toy.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q31 Tea cosy

Any medium including knitting and patchwork. Prizes:

1<sup>st</sup> \$10.00 voucher, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains*.

#### Q32 Tote bags

Any medium including patchwork.

Maximum size 40 cm x 40 cm plus handles.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q33 Wreath for any occasion

Any medium. Maximum diameter 30 cm. Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers* 

2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q34 Any other sewing handcraft (not prev listed)

Maximum size 40 cm x 40 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*,

2<sup>nd</sup> \$5.00 donated by **Dee Booth**.

# **Q35** Any other handcraft (using any medium not previously listed)

Maximum size 40 cm x 40 cm.

#### SENIOR CRAFT CLASS

**Q36** Any handcraft Created by a Senior Citizen resident at a care facility.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *Churches of Christ*.

#### SPECIAL MANCRAFT CLASS

#### Q37 MAN-made item

Please note: Men can enter any handcraft class, but this one class is just for you lads!

Could be a useful rustic item for the garden. In fact if you really sort that shed out you could create anything just utilise those nails, wire, nuts, bolts, timber, cloth and your imagination!

Presented to a maximum size of 30 cm x 30 cm x 30 cm.

Prizes:

1<sup>st</sup> \$30.00, 2<sup>nd</sup> \$20.00 supplied as vouchers for **Bottlemart** sponsored by **Annas Restaurant**.

#### NOVICE CLASSES (See clause #4 in

Conditions of entry)

#### Q38 Bear or doll

Using cloth or patchwork. Maximum height 30 cm.

#### Q39 Beadwork

Handmade beaded item. All beads used must be hand-made by the entrant. Create your own design, e.g. evening bag, wearable piece such as earrings, or item to show your beadwork skills.

#### Q40 Cushion

For chair or sofa.

Maximum 40 cm x 40 cm.

Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *CWA Glen Aplin*.

#### Q41 Decoupage

Decoupage is a fascinating form of handcraft. We suggest that for newcomers to this work, Google 'Decoupage' for tips, tuition/ideas or go to Pinterest.

Maximum height limit of 40 cm

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q42 Doll

Hand knitted or crocheted.

Maximum height 30 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*,

2<sup>nd</sup> \$5.00 donated by **Dee Booth**.

#### Q43 Drink coasters

Any medium, set of four.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### **Q44** Hair accessories

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q45 Jewellery item

Use of commercial products accepted.

Maximum size 20 cm x 15cm.

Present with display stand. Must be mounted ready for display.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q46 Handmade lampshade

Any material, excluding leadlight, 30 cm x 30 cm. Present only the shade, not the base.

#### Q47 Lap weaving

Google *Lap Weaving* or try Pinterest for tips and ideas. You will find how easily it is done, the materials needed, and video tutorials.

Any suitable medium, including wool, fabric, leather, pliable twigs, leaves etc.

#### Q48 Leadlight for Beginners

Maximum size 30 cm x 30 cm.

Maximum size 20 cm x 20 cm.

#### O49 Macramé

Your creative piece will be demonstrating your use of variety of stitches – make a wearable piece of Macramé - a decorative collar, necklace, earrings.

Maximum 40 cm x 30 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q50 Mosaic (One entry per person)

Your own creative design.

Maximum size of 30 cm x 30 cm x 30 cm.

Please supply stand for display.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q51 Nature collage

Use leaves, various seeds feathers, etc. Present on a rigid craft board, able to be stood. Maximum size 30 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Gracious Giving*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q52 Pebblecraft (One entry per person)

Present design, unframed on rigid canvas board. Maximum size 20 cm x 30 cm.

#### Q53 Quilling

A really fascinating craft. Try Google or Pinterest for fresh ideas, tips, tuition.

Present as a framed piece, or on your own stand or on a rigid board ensuring that your work can be suitably and firmly displayed.

Maximum size is 20 cm x 20 cm.

**Q54 Recycled item** (excludes mosaic items) Using recycled materials. Include small card for display that details recycled materials used. Maximum size 30 cm x 30 cm.

#### Q55 Stuffed soft toy

Maximum size 40 cm x 20 cm.

#### Q56 From the left overs!

Everyone has a box or bag of scrap pieces of fabrics, wools, lace and much more. Using all those oddments left over from past projects, create your own design/item. Please supply a small card that details the materials used. Maximum size 30 cm x 30 cm x 30 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Goldstone Jewellers*,

2<sup>nd</sup> \$5.00 donated by *Dee Booth*.

#### Q57 Any other sewing handcraft

Including embroidered work (not previously listed).

Maximum size 40 cm x 40 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains*.

#### Q58 Any other handcraft (Including basketry)

Using any medium not previously listed. Maximum size 40 cm x 40 cm.

#### JUNIOR CLASSES

We remind everyone to read all Terms and Conditions at the start of the schedule, making note of Item 9. It is important that you read through any noted specific requirements. Our Judges will be looking for indications of effort undertaken in producing each entry, in line with age-appropriate ability.

# Early childhood

#### Q59 Decorated pet rock

Maximum size equivalent to a tennis ball.

#### **Q60** Pom Pom creation

All Pom Pom's to be hand made. Maximum size 20 cm x 20 cm.

#### Q61 Paper or Plastic cups creation

Present on firm base.

Maximum size 30 cm x 30 cm.

#### Q62 Suncatcher

Look up Pinterest for ideas using this medium. Utilising any suitable border. Maximum diameter 20 cm.

# Q63 Any other handcraft not listed in this age group

Maximum size 30 cm x 30 cm.

## Grades 1-2 (as at 2023)

#### Q64 Bookmark

A chance for creativity in use of materials and design.

#### Q65 Festive item for any occasion

Handmade and decorated.

Maximum size 20 cm x 20 cm.

#### Q66 Fridge magnet

Any medium.

#### Q67 Hair accessories

e.g. handmade scrunchies, hairbands, decorated combs.

#### Q68 Pipe cleaner and beaded item

An item created using both these mediums.

#### Q69 Pom Pom creation

Maximum size 20 cm x 20 cm.

#### Q70 Suncatcher

Utilising any suitable border.

Maximum diameter 20 cm.

Pinterest have many ideas using this medium.

#### Q71 Weaving

Item using paper, fabric or yarn. Maximum base size 20 cm x 20 cm.

#### Q72 Any other sewn handcraft

Not listed in this age group. Maximum size 30 cm x 30 cm x 30 cm.

#### Q73 Any other handcraft

Any medium not listed in this age group. Maximum size 30 cm x 30 cm.

# Grades 3-4 (as at 2023)

#### Q74 Bookmark

A chance for creativity in use of materials and design.

#### Q75 Handmade beaded item

All beads used must be hand-made by entrant. Using any medium for beads e.g. polymer clay, paper, wool.

Create your own special design.

#### Q76 Feltcraft

Any item, practical, decorative or just jolly useful!

#### Q77 Festive item for any occasion

Handmade and decorated.

Maximum size 20 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q78 Decorated glass jar or tin can

Maximum size of container 500 grams.

#### Q79 Nature collage

Use leaves, various seeds feathers, etc. Present on a rigid craft board, able to be stood. Maximum size 30 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

#### Q80 Pebble art

Present your exciting creation on a rigid craft board.

Maximum size 20 cm x 20 cm.

#### Q81 Weaving

An item using paper, fabric or yarn. Maximum base size 20 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00 voucher donated by *Pure Inca*, 2<sup>nd</sup> \$5.00 donated by the *Stanthorpe Agricultural Society Handcraft subcommittee*.

# **Q82** Any other sewn handcraft (not listed in this age group)

Maximum size 30 cm x 30 cm.

#### Q83 Any other handcraft

Any medium not listed in this age group. Maximum size 30 cm x 30 cm.

# Grades 5-6 (as at 2023)

#### Q84 Handmade beaded item

All beads used must be hand-made by entrant. Using any medium for beads e.g. polymer clay, paper, wool.

Create your own special design.

#### Q85 Festive item for any occasion

Maximum size 20 cm x 20 cm.

#### Q86 Decorated glass jar or tin can

Maximum size of container 500 grams.

#### Q87 Macramé

Design to a maximum size of 30 cm x 30 cm.

#### Q88 Nature collage

Use leaves, various seeds, feathers, etc.

Present on a rigid craft board, able to be stood.

Maximum size 30 cm x 20 cm.

Prizes:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains*.

#### Q89 Pebble art

Present your creation on rigid craft board. Maximum size 20 cm x 20 cm.

#### Q90 From the left overs!

We are sure you have a box or bag of scrap pieces of fabrics, wools, lace and much more. Using all those oddments left over from past projects, create your own design/item. Supply a small card that tells us the materials you used. Maximum size 30 cm x 30 cm x 30 cm.

#### Q91 Weaving

Item using paper, fabric or yarn.

Maximum base size 20 cm x 20 cm.

Prize money:

1st \$10.00, 2nd \$5.00 donated by *CWA Glen Aplin*.

#### Q92 Any other sewn handcraft

An item not listed in this age group.

Maximum size 30 cm x 30 cm

Prize money:

1st \$10.00, 2nd \$5.00 donated by *CWA Glen Aplin*.

#### Q93 Any other handcraft

Any medium not listed in this age group Maximum size 30 cm x 30 cm. Prizes:

1<sup>st</sup> \$10.00 voucher, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains*.

# Grades 7-8 (as at 2023)

IMPORTANT: Students, Grades 7-8 may enter any of the classes below or we also encourage you to check the Classes in the Novice section – just another way to widen your scope and skills

#### Q94 Handmade beaded item

Create your own unique design.

All the beads used must be hand-made by entrant.

Using any medium for beads e.g. polymer clay, paper, wool, etc

#### **Q95 Nature collage**

Use leaves, various seeds, feathers, (pebbles?)

Present on a rigid craft board, able to be stood, or in a suitable frame.

Maximum size 30 cm x 20 cm.

Prizes

1<sup>st</sup> \$10.00 voucher, 2<sup>nd</sup> \$5.00 voucher donated by *Market in the Mountains*.

#### Q96 From the left overs!

We are sure you have a box or bag of scrap pieces of fabrics, wools, lace and much more. Using all those oddments left over from past projects, create your own design/item. Supply a small card that tells us the materials you used.

Maximum 30 cm x 30 cm x 30 cm.

#### Q97 Any other sewn handcraft

An item not listed in this age group. Maximum size 30 cm x 30 cm. Prize money:

1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by *CWA Glen Aplin*.

#### Q98 Any other handcraft

Any medium not listed in this age group. Maximum size 30 cm x 30 cm.

### Grades 9-12 (as at 2023)

IMPORTANT: Senior Students - we encourage you to check the Classes in the Novice section – an excellent way to demonstrate your scope and skills

#### **LEGO CLASSES**

Please read all classes thoroughly as there are some changes to LEGO for 2024.

Terms and Conditions noted at start of Handcraft Schedule also apply to LEGO entrants.

- Limit of one entry per person per class.
- Lego entries must be original work created for 2024 Show. Adaptation of past entries will not be accepted.
- All Lego entries must be presented on a firm and rigid base to ensure safe handling.
- Size limits are noted per class.
- All prizes are 1<sup>st</sup> \$10.00 and 2<sup>nd</sup> \$5.00 and may be cash, vouchers, or books.

#### Q99 Early childhood freeform

Maximum height 35 cm. Lego base 32 studs.

#### Q100 Early childhood kit

Maximum height 35 cm. Lego base 32 studs.

#### Q101 Grade 1-2 freeform

Maximum height 35 cm. Lego base 32 studs.

#### Q102 Grade 1-2 Kit

Maximum height 35 cm. Lego base 32 studs.

#### Q103 Grade 3-4 freeform

Maximum height 35 cm. Lego base 32 studs.

#### Q104 Grade 3-4 Kit

Maximum height 35 cm. Lego base 32 studs.

#### Q105 Grade 5-6 freeform

Maximum height 35 cm. Lego base 48 studs.

#### Q106 Grade 7-8 freeform

Maximum height 35 cm. Lego base 48 studs.

#### Q107 Special needs freeform

Maximum height 35 cm. Lego base 32 studs.

#### Q108 Open lego freeform only

All entrants must be over 14 years
This has to be your own freeform creation with
no more than maximum 20% parts from a kit.
Maximum height 35 cm.
Lego base 48 studs.
Prize money 1<sup>st</sup> \$10.00, 2<sup>nd</sup> \$5.00 donated by

Fiona Magnussen.

### **AWARDS**

#### HANDCRAFT COMMITTEE CHOICE AWARD Classes 3 –35

A significant entry in the Open section (Classes 3 -35), having not won an award, will be selected by the Handcraft subcommittee volunteers. The winner will receive \$50.00 donated by the **Stanthorpe Agricultural Society Handcraft subcommittee**.

#### **NOVICE ENCOURAGEMENT AWARD Classes 38-58**

An entry in the Novice section within Classes 38-58, having not won an award, will be selected by the Handcraft subcommittee volunteers. The winner will receive a \$25.00 voucher donated by *Gracious Giving*.

#### YOUTH ENCOURAGEMENT AWARD Classes 59-98

Two significant entries in the Open section (Classes 59-98), having not won an award, will be selected by the Handcraft subcommittee volunteers. The winners will each receive a \$25 award kindly donated by **the Cameron family in Memory of Elspeth Cameron**.

#### LEGO ENCOURAGMENT AWARD Classes 99-107

A significant entry from Classes 99-107, having not won an award, will be selected by the Handcraft subcommittee volunteers. The winner will receive prize money \$20.00 donated by *Fiona Magnussen*.

2024 HANDCRAFT CHAMPION OF SHOW Classes 3-35 Prize value \$70.00 donated by *Anne Lindsay* 

2024 CHAMPION YOUTH EXHIBIT Classes 59-98 Prize \$30.00 voucher donated by *Cuts 'n' Curls*.

2024 LEGO CHAMPION (FREE-FORM ONLY) Classes 99-107 Prize \$30.00 donated by **Bev Batterham**